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Lesson 8

LO: To multiply a decimal by an integer.

Use the help sheet to help with the method

3045 Ones tenths | hundredths
« ;| 000,00 |©
1035 00000 |®
t 00000 ©
Fluency

. A jar of sweets weighs 1.213 kg.
How much would 4 jars weigh?

Sweets Sweets Sweets Sweets

e

. Rosie is saving her pocket money. Her mum says,

“Whatever you save, | will give you five times the amount.”

If Rosie saves £2.23, how much will her mum give her?
If Rosie saves £7.76, how much will her mum give her? How much
will she have altogether?




image2.png
Lesson 8

Reasoning

Whitney says, /~ When you multiply a
number with 2 decimal
places by an integer,

the answer will always
have more than 2

(o)) decimal places.

~

Do you agree?
Explain why.

Chocolate eggs can be bought in packs of
1,60r8

What is the cheapest way for Dexter to
buy 25 chocolate eggs?

&

6 chocolate eggs
£2.85

8 chocolate eggs
£4

Fillin the blanks
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